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General Instructions :

1.

3.

4.

The question paper consists of four Sections - A, B, C and D. Section - A consists
of 8 questions of 1 mark each; Section-B consists of 6 questions of 2 marks each:;
Section-C consists of 10 questions of 3 marks each and Section-D consists of 10 questions
of 4 marks each. Question No. 1 to 8 are Multiple Choice Questions where you are to
select only one correct option out of four given options.

All questions are compulsory.

In questions on construction, the drawing should be neat and exactly as per the given
measurements. Use ruler and compass only.

There is no overall choice. However, internal choices have been given in some

questions.
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Section - 'A' (@g-‘31")
Question numbers 1 to 8 carry 1 mark each.
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The sum that amounts to¥289 in 2 years at 4 % per annum compounded
annually, is

1

WWW6Z%W@WﬁQ@23ﬁﬁ?289ﬁW%,%—

(@ X156 (b) Y33 (c) X265 (d) X256
The degree of a constant polynomial is :

=R IgUT HI T T

@ 3 (b) 1 ) O d 2
A polynomial of degree two is called a

(@) linear polynomial (b) constant polynomial
(c) cubic polynomial (d) quadratic polynomial
T oA ATl agUS e € Tk -

(@ WoF sgw (b) ST TGS

(0 P sgeR (d) Tgord =gus

The sum of all interior angles of a hexagon is :

(@) 6 right angles (b) 8 right angles

(c) 9 right angles (d) 12 right angles

TS % Td: KU k1 AT T
(@) 6 THHI (b) 8 HHHIU (€ 9 THHI (d) 12 GHH

The required area of the card board used to make a closed box of dimensions
10 cm x 8 cm x 5 cm is
(@) 340 cm? (b) 180 cm? (c) 400 cm? (d) 320 cm?

T a8 fesa fgen! famim 10 9. x 8 9. x 5 9. &, 1 °H & foIU sreeas
T <l A % -
(@) 340 MEHL.  (b) 180 SFEHL. (c) 400 IEHL. () 320 S

The angle of rotation of a square is :

Teh o T UM 0T B -

(@) 180° (b) 90Q° (c) 360° (d) 270°
Which of the following figure has order of rotation 6?

(@) Equilateral Triangle (b) Square

() Regular Hexagon (d) Regular Pentagon
frefafed smefaal & o fmae 3o %1 6 72

(a) THag IS (b) o () THEYS (d) FHIEHS
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10.

11.

12.

13.

14.

Section - 'B' (@s-‘®")
Question numbers 9 to 14 carry 2 marks each.

YT H@ 9 U 14 T Yk YT b 2 3F B
Evaluate (A9 @ HifSQ) :- {7{(8);‘ +(125);’} T
Evaluate (AM 3 HIfQ) :- (0_125)?

Solve : (81 shifs@) : 7—X _ 4

5x +1

OR ( 314

Two numbers are in the ratio 5 : 7 and their sum is 156. Find the

numbers.

T HEAS BT A 5 ;7 ® AU BT AN 156 T WA A1 BT

An exterior angle of a parallelogram is 110° Find the angles of the

parallelogram.
ThH TR s 1 TH d'd H0 110° g o Gaggs & v F@
IS

Find the volume of a cube, each face of which has an area of 81m?.

[aWa o

Tk 9 1 AFGH T RITAC, ToGF I&F Feleh k1 &% 81 o . 2

Give the order of rotational symmetry of the given figures at the marked

point :-

& T fosft w1 sifera fag W eoftar wwthfa 9 9@ ST

A
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Section - 'C' (@8-|W')
Question numbers 15 to 24 carry 3 marks each.

U9 G 15 § 24 9F TAF G B 3 AF =l

15. If 6™ +36=1296  find the value of x.
Ffg 677 +36=1296 g T x 1 HHE A BT

16. Find the amount when ¥ 50,000 is invested for 2 years, compounded
annually; the rate of interest being 8% p.a. during the first year and
9% p.a. during the second year. Also, find the total compound interest.

e TS 1 S TUH o9 896311 TEdta a1 99 @1 750,000 % foIu =hefg =
HI W H 2 T I HAEE F4 HISU HA Thdlg oATs S J1q hifeg|

OR ( 319dT)

The population of a village is increasing at the rate of 8% p.a. What will be
the population of the village after 2 years if the present population is
12,5007

Teh a1 SHHEAT 8% dliteh X ¥ &g @I 2| Al a9 SHEE 12,500 €
2 99 UvEd 39 M ki SHEEA 1 B

17. At what rate per annum will a sum of ¥ 6250 be compounded to X 7840 in
2 years?

forg aTfifer =T 1 T W T 6250 k1 TALEE T 7840 B s3I Ife f<=n = 997 2
Y Bl qe1 SIS Tehdlg & § oifden GAfSId g 812

~10z +16) by -

(2 2)
18. Divide / using factor method.

(2" 102 +16) oy v fafer 1 Wi R gw @ 2) @ R

OR ( 3T<@ )

Using long division method state whether or not the second polynomial is

a factor of the first polynomial.
x?—8x?+38x —1: —-1+x

ar fafer &1 7am wd gu fRERy fF O Sgus Ted 9gUg i qUHES ¢

ERl x?=3x*+3x -1, —1+x
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19.

20.

21.

22.

23.

24.

Divide p*+p®-p?+1 by p -1 and find the quotient and remainder.

g9 p*+p*-p3+1 Eal 989 p -1 T 9 TH, TR AR &5 T4 hifTT|

Two years ago, Dilip was three times as old as his son and two years
hence, twice his age will be equal to five times that of his son. Find their

present age.

T o Tee fEelia i o1 19+ O i o1 W AT oft 3R < o qvE SEh! Y
T AT AU GA Kl 3P & 5 TON & &R TR ITehl aHM g A
HIfSIq|

y+6+y—3_5y—4
Solve for vy : (y@ [0 A shifel@) - 4 5 8

ABCD is a thombus. If £ADB =50" find the angles of the rhombus.
ABCD T FH=qYS | afg £ADB =50" & d1 Towgesl & v T1d hifer|

Find the length of the two parallel sides of a trapezium whose area is
1.6 m?, altitude is 10 dm and one of the parallel sides is longer than the
other by 8 dm.

Th TGS 1 &% 1.6 THIET R & 10 SHH (dm) B I SHeh! Th
THR Sl 1 g SHd 9ol 9 8 SHIHI (dm) 31fueh € af S et gt
I ARl 9w

OR ( 39aT)

A cubical box with lid has a side of 30 cm. Find the cost of painting the

inside and outside of the box at ¥ 200 per m?.

Teh SR Gk aTct Tl ol 9T 1 ot 30 9.0, 21 fosd & o7t 319X
3200 9fd o7 WX T R T U HUH T TF A ST

Construct a quadrilateral ABCD in which AB =CD =5cm | ﬁ:‘km,

diagonals AC =7cm and BD =8cm
=qesl ABCD &1 T=l iy fored AB =CD =5 @§fi., BC =4 qfi. faepof
AC =7 gfi, 3fx BD =8 qfi. B
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26.

27.

28.

29.

Section - 'D' (@S-‘T")
Question numbers 25 to 34 carry 4 marks each.
T HE&A 25 ¥ 34 qF TAF WA & 4 3 T

Solve the given equation for x.
& T HHH Hl x & AT g HIfSQ

5x+1 _5x—1 — 120

OR ( 39aT)

(49)7 «(256)1
Simplify : (¥ HIfST) (343)s x(64)3

Calculate the compound interest on X 24000 for 6 months if the interest is
payable quarterly at the rate of 8% p.a. The interest earned will go to a
cheritable institute. What value is reflected?

324000 T 8% alfYsh X § 6 TEH HT FAhglg S A HIFTT STafch TS 8
famTet SASIa 811 HEE T S Uk e L hl S| T9E ShiF |l Sire

oI J@ien T #?

The difference between the compound interest and the simple interest on a
certain sum of money at 5% per annum for 3 years is ¥ 54.90. Find the

suin.
ferdlt T W 506 aftieh W 3 o & foIu =ehafeg =TT SR IR0 A1 1 =R
354.90 &1 TR F1@ HifS@

Divide 4x” =37x*+52x -5 by -5+4x and verify your answer.

4x°-37x* +52x -5 g 5+4x H AN ST AR AT I HI S= HISC
A steamer, going downstream in a river, covers the distance between two
towns in 15 hours. Coming back upstream, it covers this distance in 20

hours. If the speed of the water is 3km/hr, find the distance between the
two towns.

T VI T 74§ gl & 9.6 ki fKen § S gY, & TR W9 w1 gl 15
e W g A 2| TE I a7 T P TR * faes e od gu 20 W H a9
FI 21 AR U % = a3 fRe. ufd e @ At <Al TR &% & g
EIcRCAISI
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30.

31.

32.

33.

34.

The lengths of two adjacent sides of a rectangle are in the ratio 3 : 4. If its
diagonal is 20 cm, find the lengths of the sides and hence, the perimeter
of the rectangle.

Teh ST 1 G JoNsti o ek T8 hi oAzl B S 3 : 4 €1 3 gqe fashol
20 . © T ST h1 qONST 1 oI aU URE™ i it

ABCD is a parallelogram in which the diagonals bisect each other at right
angles. Show that it is a rhombus.

ABCD & AR Jq4s ¢ o fawol th s =l Faahon W gafgefed &

21 < 1 78 Th gHEqHS R

Construct a quadrilateral ABCD in which AB = 4.5 cm, BC = 5 cm,
ZA =60° gnd 4B =120° gnd £C =60°,

Teh g ABCD 1 TAT SifeC fS9H AB = 4.5 ¥HI., BC = 5 ¥HI., £A =60°
/B =120° 3w £C =60°

15 cylindrical pillars of a building are to be pained and the diameter and
height of each pillar is 48 cm and 7 m respectively. Find the cost of the

[Use D :@—I
7

painting if the rate is ¥ 2 per sq.m. ! J

T SARA & 15 SRR @9 i U2 H AT 21 I Yieh T 1 =A19 9 3l
HHY: 48 O 9 7 M. T @ G W U2 HH F @ G HIFTUC safe gfq ot @

Yo @ wd 22 B [p:%ﬁﬁl@}

A rectangular sheet of paper 88 cm x 10 cm is rolled along its length and
a cylinder of height 10 cm is formed. Find the volume of the cylinder so
obtained.

88 THY. x 10 THI. HIY ATel AIARR DTS & Ihs i THs & TR HSHT
T 10 Y. 9 HT oo SR T U Sei T STEA T it
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